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There were 10 kids. each kid got 7 tic tacs. How many tic tacs did each kid get?

There were 15 dogs. each dog got 11 treats. how many treats are there in all?
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There were 22 printers in an office. In each printer there were 16 pages. How many pages are there

There were 13 bags of candy. In each bag There were 17 pieces of candy. How many pieces of canc




Bo had 10 birds. He split them up into 2 equal groups. How many birds are in each group?

Dan had 40 balls. He split them into 2 equal groups. how many balls are in each group?

Rouge had 15 bats. She spilt them into 3 equal groups. How many bats are in each group?
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Bob had 1,000 toys. He split them into 25 groups. How many toys are in each group?

Craig had 60 pillows. He split them into 2 groups. How many pillows are in each group?



Marco had 20 books. Then he got 20x more. Then he sold 10 of them. how many books does he have?
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Mr. Oscar had 50 books. Then he got 3x more then he got 50 more. How many books does he have?
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Ms. Lady had 5 dollars. Then she got 11x more. Then she got 5 more. How many dollars does she have?
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Calie had 5 dogs. The he got 9x more. Then he got 10 more. How many dogs does he have?




Michael had 1 dollar. He split it 1/2. How much does he have left?

Michael had 1 hamburger. He split it into 2/4. How much does he have left?

Michael had 1 pizza. He split it into 3rds. How many slices does he have to eat to finish
the pizza?

Michael had 1 candy bar. He gave his friend 2/4 of the candy bar. How much does
Michael get to have of the candy bar?




Answer Key

Multiplication
1. 70
2. 155
3. 352
4. 221

Divsion
1. 15
2. 20
3.5

4. 40
5. 30

Word Problems
1. 390

2. 200

3. 60

4. 160

5. 55

Fraction
1.1/2
2.2/4
3.3/3
4.2/4



